AllResult.pk

et db -2 aae
As=2._and. b=%

S &M = £ [BG-
=+ 1)

=2 [CTE = *4y
y -
f‘o) —27 and 8 _
A= 22, b= By

N Q:N\::i,@_. e
2R
== lle

- % 4

e D

]

"
Uit

LK)

—_—

@&2 D oleh @&, G, s ave
Yookbmme &My lnebioces’ { and 8 .

dhew @ 1,G,,G;,8 awve n G.P-

heve 3= 4 , &d,=8 .

S a25°=§

20)¥3= ¥

= ¥3= (2

= ¥ = L
&=, = A¥s (N2)=2
Ga= By = B = (D)= ()4)=4

Gana  hene 2 4 ar Tuea
(:;'MQ Lg_zlw.ueﬂu _’L v g

e N

) Do \(amsd][ a5 ) 7

@Mn'b D Led CT”CH and Gy ave
Lhvee CrMe odbisesn 1 zmd i6..

thew 4,G,, G, Gy, 16 2 0 G P
1. Ag= 16

= 2||T_“:‘!é

2 4ytoig

2 yi- (2)3

=2 Y= 2

L\QY& a4 =

,,,C@No4 Léfr Q.,GL,Q;,BJQJ @.f

Exercise 6.7

Mcrm G A= Ay (M2 2= L___

&, =a,=3,Y e 4
 GemAmaxk (D02)= 8
szm, 2,4.8. are _mvee_.@,:m;m_,,,
okweena. A zmcl [F -

Chozad Do ~presd
____._.——0

ave four . GMg . belivesn 2 md ag.
thew 3, G, ,CUJC-.S,,Q‘V,CLQ Bre. {h.

G, .
i‘»era 2153

S ag—q@
& _Eh‘e’s =q¢
=23 x = q&
= v % = "{é/__
S T (n)§
Ncrv-» :

5 alhapr? (3)2) =

Irﬁ

&
Ya=2y=av= (232)'= 12
Gy = B4 = alﬂ"(g)'@):“ @4 T

G4=ac=ari- (3)(2)

i Jz-ewcl é 12, 24 ﬂg Bre '&M%W

" e Bakugo: 5 M as,
5 z
@No-§

thenn '}%ﬁ' > ti?“f
= xagrray
= why TG >ra

2 ((F) 273 >a

2 (PomlFyoam .
w\'udn BTN 1YY a5 S%’Y&

ajm ars i \m/?’ﬂmw 1’% ?—é(



AllResult.pk

. @'?hé Wwe. Knae 4hat

S GM = {3k )
bd’j we, ha\,\c g\\m.u i
o= 2R Sy
Cowx'l?aw\“lfé m am\ Gy
L EC
.Z\\r: 1_._ bﬂ 1

S ane b = @ sFapl (a"” '+E“"j

$ 20 aW RS gy
- A e TR LY
D 2" (@) (%L ")

'/L b“"f;

$ " s i l__)n B
i
? eV !
n=le, s AN i
9 (BT =G &
= Y\—]?‘:G =) ?Ig_l ‘f
7&._,,————9‘;

@r\la_f led 3 and b ke T Hiu
1'n~iégev’> Hhenn b\r Z-{E\zem £ v e
AdA =G+ 2
S af b [3b 2
o 3
= At = 2{.]3_5+1)
Alge we bave gffvw
a+b = 2o -—(
C:?mpzmné Vg

ATFE + 2)= 20 5 2HL 4420

= 2 [53b = Re—%
= & \e
=5 2 64 cby squemgl Lo
-;) 'b: é.iv———-——-'\kl ll‘)
EY
TULSIEY o (M1 :
" g o L
+64 = Ao
) aly 64 = 203 ’

Exercise 6.7

2.5 Ll Aa A+ 6d =2 _
2 ala—1e)-4(2a-1€)="

' ® (a-l&)(a-4A)=o

a-lb=o
7.2 =1k

» . A48

... a=4

potbiag w Gity L

b= éi__ 2 P s e T
X

Chene 16,47 0R 4,16 ave

Y-:C)f.u'v\ecl U b -

L

@Nbg M 2}. sm,d 'b ‘tzzz'Jlu}Q
E V'Y
| fw_

uure_a v e, -

Pt = 4 . .

=5 a+t b 5 .

. R R o e e
= atb= e

M = a
= 3k =4
= a "b-_— o SAMZE
= b_—..L_ i '
R e B e sappas i

p\u'-l—m% A} E

a+ 1L _ 1o

. 5 :

S aty b =103 . o

2 at_yoatlé=o_
= abt_8a~23 AL =0

3 2(a-8)-2a-8) = o

= (a- s)(z y=35""""7 -
‘a—S:_'a e ‘ami""—'-"é" B
\rtf Ay e e

b= 3 =2 ..a .b= e.w,g
\HEWLE_ g,z ’O‘%i”i;‘S““zTQ"““
_q,cﬁw'fﬂd,‘ ambens L

www.allresult.pk




